
'::,. ,j.'

lRlsi
Code No: l26ZN

JAWAHARLALNEHRUTECHNOLOGICALUNIVERSITYHYDERAB'A'D

.:1
't , I '....-'

Max. Marks: 75

i:

:--'"'r
,, ,::

'lj 
, _ :::'

B.TechIIIYearIISemesterExaminationq:-.Ivlay-201.9- : ., : , ', ,- i DIGITAL C-6rMM.I]NI9AII(?Ns j ;: ,

;-..,j;"'::'.;.,.,,....:,-:....:.: - i I f ''.. i(Eiectfonics and Communication EngineEring) ,

Time:3 hours

Note: This question paper contains two parts A and B'
part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B

consists of 5 Units. Answer any one full question from each unit. Each question carries

10 marks and rnay have a, b, c as sub questions' : , r..:.,,.:.,;,:.....:.:..-...:
PART. A

li

1.a) Define NYquist rate.

b) What is meant bY aliasing effect?

c) Explain. coherent delection?'f di Wtrat is the diffefpnpe:between PSK an'd FSK? ',' 
'.' ;i p.hni irr. term ISI? , ', I

0 What is the necessity of equalization?

g) What is hamming distance?

h) Define code efficiencY.
i) What is Pseudo noise seqttence?

j) What is direct sequence spread spectrurr rnodLrlation'J

P.{ llT - B

2.a) Write shorl notes on:

i) Li t'ltltttlltr n.rise

ii I Sioltc ovct'1oa,,l clistl'ortioll.

b) Derive an expression fbr qLrantization Iroise itt clelta troclLrlatiotr.

oti
j.rl Erplain rlre rvorliing ol'a Pt lvl systcnr rr itlt a tl.rrt bl.re li ,-iiltgt'rrtt.

b) Ilxplain conrpanding r'vith A-laiv and pt-larv'

4.a) Explain u,ith neat cliagram BPSK transmitter and receiver.

b) Civc a cotnparison betu'een DPSK and PSK schellres'
oll

Explain non coherent FSI( scheme.

Dra*'a diagrarl of ASK trtttlstllittet'arrd crplain it'

Deriv,e an expression for error probabilitl,of an optitrtLrnl f-rlter.

Define information and entroPY.

for removal of, ISI.
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8.a)

b)

10.

11.

Explain about block codes in which each block of k message bits is encoded into n>k

bits with an exampte.
Explail lamming-c-yclic 

codes by consid-ering suitable example' [5+5]

Consider a (6, 3) geherator matrix' : ''
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a) Find all the code vectors of this data for block codes

b) The parity check mtitr-ix for this'eode-.--, .' : : ':

;jTtrl rninii',',rrn.weight of this code.: ' '

:

Give four applications of spread spectrum systems' Explain'
OR

What is the use of spread spectrum? Discuss in detail the direct sequence

spectrum.
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